Canada Agriculture
and Food Museum

Run-Off Battleship: Sandy Soil

¢ If the precipitation score is 2 to 4: You lose 10% of your fertilizer to wind erosion.
o |[f the precipitation score is 5 to 9: Your fertilizer levels remain the same.

¢ |If the precipitation score is 10 to 12: You lose 10% of your fertilizer to groundwater run-off.
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e Number of squares that reached 17 kg/ha:

e Total amount of fertilizer lost to run-off or wind erosion :

This lesson plan was produced by the Canada Agriculture and Food Museum.

View all of Ingenium’s learning resources on our website.
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